

الف) $D_f = \{n \in \mathbb{N} \mid n \geq 0\}$ $f: \mathbb{N} \rightarrow \mathbb{R}$ $D_g = \mathbb{R}$ $\forall n \in \mathbb{N} \quad f(n) \neq g(n)$

ج) $\frac{D}{\delta - \gamma} = \frac{b \cdot \epsilon_{ac}}{\delta - \gamma} = -1R \rightarrow D_R = 1R \quad \{ D_G = 1R \}$ ✓ $f(x) = g(x)$

$$7) \quad r \sin u = \frac{w}{r} \rightarrow \sin u = \frac{w}{r^2} \rightarrow \frac{\partial}{\partial w} \left(\frac{w}{r^2} \right) = \frac{1}{r^2} - \frac{2w}{r^3} = \frac{r^2 - 2wr}{r^3} = \frac{r(r-2w)}{r^3} = \frac{r-2w}{r^2}$$

2) $\rho_A \neq 0$, $\rho_B = \mathbb{R} - \{0\}$, $\rho_C = \mathbb{R} - \{0\}$ + $c_1 \rho_A, -c_1 \rho_B \rightarrow A(u) = G(u) \checkmark$

الف) $\mathcal{P}_f = \mathcal{P}_g = \mathbb{R}$ $R(a) = \left[\begin{pmatrix} 1 \\ 0 \end{pmatrix} \left[\begin{pmatrix} 1 \\ 0 \end{pmatrix} \right]^\top, \dots, \left[\begin{pmatrix} 1 \\ 0 \end{pmatrix} \left[\begin{pmatrix} 1 \\ 0 \end{pmatrix} \right]^\top \right] \mathcal{P}_g = \left[\begin{pmatrix} 1 \\ 0 \end{pmatrix} \left[\begin{pmatrix} 1 \\ 0 \end{pmatrix} \right]^\top \right] = \begin{pmatrix} 1 & 0 \\ 0 & 0 \end{pmatrix} = \begin{pmatrix} 1 & 0 \\ 0 & 0 \end{pmatrix} \begin{pmatrix} 1 & 0 \\ 0 & 0 \end{pmatrix} = \begin{pmatrix} 1 & 0 \\ 0 & 0 \end{pmatrix}$

ج) $h_f = [v_n]_{t=0} \rightarrow a \in [0, \frac{1}{c}) \Rightarrow K - [a, \frac{1}{c}]$, $h_g = [v_n]_{t=0} \rightarrow [a]_{t=0} \rightarrow [a, 1)$

ج) $P_K \rightarrow \alpha - |\alpha| > 0 \rightarrow \frac{\alpha > |\alpha|}{\alpha \neq 0} \Rightarrow P_K = \emptyset, P_g \quad |\alpha| > \alpha > 0 \Rightarrow |\alpha| > \alpha \Rightarrow (\alpha > 0) \quad X \text{ بر این مجموعه تعریف نشده است}$

2) $\frac{a(n-1)(n+1)}{n-1} = a(n+1) \rightarrow a(n+1) = a(n+1)$ ✓

$$P(u) + g(u) = u^r + u + 1$$

$$f(x) - g(x) = x^{r_{n+1}}$$

$$r f(r) = r m_1 r$$

$\rightarrow A(n) = n+1$
 $\sigma_9 \rightarrow J(n) = 2n$

$$h(u) \times g(u) = (u + \sqrt{u^2 - \varepsilon})(u - \sqrt{u^2 - \varepsilon}) = u^2 - u^2 + \varepsilon = \varepsilon$$

σ_{max} σ_{min} σ_{avg} σ_{max} σ_{min} σ_{avg}

$\frac{1}{n} \rightarrow 0 \rightarrow 1 \leq n \rightarrow 2 \leq -1$

1

$$g(x) \rightarrow \mu_1' - \mu_2' - 0 = 0 \quad Dg = 1/R - \{0, 1\} \rightarrow$$

$$P_R = \{R - \{0, 1\} \}$$

$$a-b = r(a_{n+1} + r)$$

$$a_m - b_n = \frac{1}{r} \times \frac{1}{9} = (-4 \times 10) \quad \frac{10}{9} - \frac{10}{9} = \frac{10}{9} - \frac{10}{9} = 0$$

$\frac{1}{2} \times 10 \times 10 = 50$

$$\frac{bx+c}{ax+b} = c \rightarrow \frac{bx+c}{ax+b} = \frac{1c}{1} \rightarrow \frac{bx+c}{ax+b} = \frac{1c}{1} \rightarrow \frac{bx+c}{ax+b} = \frac{1c}{1}$$

$$1c = b \rightarrow c = \frac{b}{1}$$

$$bc = r \rightarrow c = \frac{r}{b}$$

$$1a+b=0 \rightarrow 1a+b=0$$

$$1a+b=0 \rightarrow 1a+b=0 \rightarrow a = -\frac{b}{1}$$

$$\frac{bx+c}{ax+b} = -b \rightarrow \frac{bx+c}{ax+b} = -b \rightarrow \frac{bx+c}{ax+b} = -b$$

Ⓟ

$$b \times \frac{1}{1} = r$$

$$b^1 = 1r$$

$$b = \pm r$$

6

$$K = \{(-1, r), (r, \varepsilon), (r, -r), (0, \frac{1}{r})\}$$

$$r_9 = \{(r, 1), (r, r), (-1, -1), (0, 0)\}$$

$$K+r_9 = \{(-1, -r), (r, 1), (r, \varepsilon)\}$$

$$\frac{r_9}{K+r_9} = \{(r, 1), (r, r), (-1, \varepsilon)\}$$

Ⓟ

7

$$K = r_9 \rightarrow \frac{1}{a} - \frac{1}{b} = c \rightarrow \frac{1}{a} - \frac{1}{b} = c$$

$$c+d = \frac{1}{\varepsilon}$$

$$(r+1) = (r, a) = (r, d) \rightarrow a = d = -1$$

$$ra - rb = 1 \rightarrow -r - rb = 1 \rightarrow rb = -\varepsilon \rightarrow b = -r$$

Ⓟ

8

$$\sqrt{-a^2+a-m} \Rightarrow \sqrt{-a^2+a-m} = b$$

$$\sqrt{-a^2+a-m} = b$$

$$\sqrt{-a^2+a-m} = b$$

$$a - \frac{1}{r} = b$$

$$a+b = \frac{1}{r}$$

$$\sqrt{-(a-\frac{1}{r})^2}$$

$$\sqrt{-(a-\frac{1}{r})^2}$$

$$-|a-\frac{1}{r}| = b$$

$$|a-\frac{1}{r}| = -b$$

Ⓟ

9

$$g(m) \quad m-c \neq 0 \rightarrow c \text{ is not a root} \rightarrow a^r + \varepsilon m + b = 0$$

$$a^r + \varepsilon m + b = 0$$

$$\frac{r}{m+\varepsilon(m+c)} \rightarrow \frac{r+a}{(m+c)^r}$$

$$a+b+c = \varepsilon + \varepsilon(-r)$$

$$-1r$$

Ⓟ

$$r m + \varepsilon = r m + \varepsilon \quad a = \varepsilon$$

$$a+b+c = \varepsilon + \varepsilon(-r)$$

$$(m+c)^r = -a = c$$

10